

	� ����ان         �� ��

� ����� ���� ��� ��رق                            ��	�	� ا��� �	����      

 ���                       .27/01/2009:  ا���ر	)  .                                2008/2009: ا� �� ا��را
.��	���8 27 ��دة ا����م ا�,ا��3�2��,01  ا/ول      ا�,�ض   

���� واح�ة :    ا���ة                                             .   ���م ت;�	:�� 2 :ا�� ��ى.  
 

��Aط 09(   :ا����	ـــ� ا/ول .( 
 


� ا
	��� آ�����  ���� ���m1=100g  ارت�����'� ) C°20-( ودرج� (
�ارة ا�  .C°20دا.- إ��ء '* درج� 
1- ��
���0

��� ا
��8��9 ؟56 ا
�234ت ا��
�ه*  ، ���	
  ا
�* ت��أ =�> ���� ا
4�اري ا
Dي ا
�A�B ا
@��� ا
	���ی�  -2
 .أ�EF ���0 ا
�34ی- ا
3- �
 ���� ��H�
�ارت��  ا
�49س ���5 إ
> ا
	��0 ا
I�F@� وه* �  . 200g  m2 = وآ�����C°60 درج� 

•  ��0	�
 ��8��9
4�ارة ا
��د درج� ا. 
���L
4�اری� ا

�	��� ه*   ا
��F ا � :Cg = 2090J/ Kg.K*ه ���	
                        Lf = 330 J / g:  ، ا
��F ا
��B�2 ����Lر ا


��0ء ه* .   ����L
4�اری� ا
 C°0:  ، درج� ا���Bر ا
	��� ه* Ce = 4185 J / Kg.K:  ا
��F ا

��49س ه*     ����L
4�اری� ا
   .CCu = 380 J / Kg.K:ا
��F ا
 

11: ( ��2 ا����	ـــ� ا�3 �CA� .( 
��Aط 06  ( :ا�;ــ�ء ا/ول  .( 

 

3�Fم �L

3�4ل آ�3ر ا Hآ���ی� ت���� ت�CaCl2 �
3��

3�Fم �L

3�Lر ا -�
�4

[ ��4د ������ D
، �����9
 3Iاس�� ا

، Hآ���

��  ا��
 :'��9�B4 =�> ا
8��9_ ا
10.0 7.50 5.00 2.50 1.00 C (mmol/L) 
2.49 1.87 1.27 0.63 0.26 G ( ms) 
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λAg+ = 6,19 ms.m2.mol-1   ;    λNO3: ی��> 
- = 7,14 ms.m2.mol-1           

 
 
 

 


